TH7EE RREEAMR BIER

SM7EE 8A~11H

w
—h

w
—h

8H 9H 10H 11H
1|& 118 1|7k 1|+
2|+ 2|k [EERFEE 2[EH 2| K Al
3|H 3|7k ES 3| |>UiEmH
4| B ES e 4|k |REREERE 8[EIH
5[ K 5|& 5/H 57K
6[7K 6|t 6|A 6| A
7|K 7|18 71X |RERGEE 5[EF UES
8|& 8| A 8|7k 8|+
RS 9|k |REREEEE 3[EH 9|k 9|1H
10(H 10{7K 10(&€ 10/ B
1118 oA 11K 11[x 11X [REREEEE 9l H
12|k 12(£ 12(H 12{7k
137K 13|+ 13|18 [RAR—YDH EIES
14| K 14|18 14|k [REREFE 6[EH 14|
15|%& 15|83 |[#EDH 15(7K 15(%
16|+ 16[X |REREEE 4 F 16| A& 16|80
17(8 17|k 17|% 17|8B
18| B 18| K 18] 18| X | RENEEEE EAFE=C
19[ k& 19(£ 198 19|k
20|k 20/t 20| A 20K
21K 21|H 21| |REREEE 7[0H 21|&
22| & 22| B 227K 22] %
23|+ 23|k B2 DH 23K REBEEEE L
248 247k 24| & 24| [IEREAKHB
258 25| A& 25| 25K |REREE FiEH
26N [HEIREE 1EAB 26|& 26|H 267K
27K 27|% 27|18 27|
28| K 28| H 28[ X 28| &
29| & 29 H 297k 29|+
30[x 0k |HEEFRRSE KBS 30/H
=] Fo




